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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)	 (i)	 What is meant by cost?

		  bmJV go ³¶m Ame¶ h¡?

	 (ii)	 There were 8000 workers in a factory on 1st January 

2014. New entrants in service during the year were 400 

and leavers were 200. Calculate Labour Turnover Rate 

and Labour Flux Rate.

		�  1 OZdar 2014 H$mo EH$ H$maImZo ‘| 8000 l{‘H$ Wo& 1 df© Ho$ 
Xm¡amZ 400 Z¶o l{‘H$ Zm¡H$ar ‘| {b¶o JE VWm 200 l{‘H$ N>moS>H$a 
Mbo J¶o& l‘ {ZH$mgr Ed§ l‘ AmdmJ‘Z Xa kmV H$s{O¶o&

	 (iii)	 What do you understand by ‘Activity Based Costing 

Method’?

		  "{H«$¶m AmYm[aV bmJV {d{Y' go Amn ³¶m g‘PVo h¢?

	 (iv)	 What do you mean by ‘Machine Hour Rate’?

		  "‘erZ K§Q>m Xa' go AmnH$m ³¶m Ame¶ h¡?

	 (v)	 What is a ‘Budget’? Explain any two objectives of 

budgeting.

		  ~OQ> ³¶m hmoVm h¡? ~OQ>Z Ho$ H$moB© Xmo CÔoí¶ {b{I¶o&

	 (vi)	 What is Labour Rate Variance? Write down formula for its 

computation.

		  l‘ Xa {dMaU ³¶m h¡? BgH$s JUZm H$m gyÌ {b{I¶o&

	 (vii)	What do you mean by ‘Trend Analysis’?

		  "àd¥{Îm {díbofU' go Amn ³¶m g‘PVo h¡?
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	 (viii)	The sales of a firm were Rs. 80,000 in 2014 and  

Rs. 90,000 in 2015 and profits were Rs. 10,000 and  

Rs. 14,000 respectively. Calculate P/V Ratio.

		�  EH$ g§ñWm H$s df© 2014 ‘| {~H«$s 80,000 é. VWm df© 2015 ‘| 
{~H«$s 90,000 é. Wr VWm bm^ H«$‘e: 10,000 é. Ed§ 14,000 
é. Wo& bm^ ‘mÌm AZwnmV H$s JUZm H$s{O¶o&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 What do you mean by ‘Absorption of overheads’? Differentiate 

between ‘Absorption and Apportionment of overheads.

	 "Cnarì¶¶m| Ho$ AdemofU' go Amn ³¶m g‘PVo h¡? Cnarì¶¶m| Ho$ AdemofU 
VWm {dVaU ‘| ³¶m AÝVa h¡?

3)	 Write short notes on:

	 g§{jßV {Q>ßnUr {b{I¶o&
	 (i)	 Absolute Tonne Kilometer / n[aewÕ Q>Z {H$bmo‘rQ>a
	 (ii)	 Flexible Budget / bmoMXma ~OQ>

4)	 Discuss the various phases of Decision making.

	 {ZU©¶Z H$s à{H«$¶m Ho$ {d{^ÝZ MaUm| H$mo g‘PmB¶o&
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5)	 Write explanatory notes on following:

	 {ZåZ na ì¶m»¶mË‘H$ {Q>ßn{U¶m± {b{I¶o&
	 (i)	 Job costing method / CnH$m¶© bmJV {ZYm©aU {d{Y
	 (ii)	 Comparative Statement / VwbZmË‘H$ {ddaU nÌ

6)	 What is ‘Zero Base Budgeting’? Explain its advantages and 

limitations.

	 eyÝ¶ AmYma ~OQ>Z ³¶m h¡? BgHo$ bm^m| VWm gr‘mAm| H$m dU©Z H$s{O¶o&

7)	 What is ‘Cash Flow Statement’? Explain the classification of 

cash flows.

	 "amoH$‹S> àdmh {ddaU nÌ' ³¶m h¡? amoH$‹S> àdmh H$m dJuH$aU g‘PmB¶o&

8)	 Following is the balance sheet of a company as on 31st 

December 2015:

	 EH$ H$ånZr H$m 31 {Xgå~a 2015 H$mo g‘mßV df© Ho$ {bE {MQ²>R>m {ZåZ 
àH$ma h¡:

Liabilities Rs. Assets Rs.

Equity share capital 500000 Fixed Assets 	 1800000
Less : Dep.	 500000 1300000

12% Preference share 
capital

100000 Investment (short term) 150000

Reserve Fund 400000 Stock 300000

14% Debentures 700000 Debtors 200000

Sunday Creditors 60000 Bank 50000

Bills Payable 100000

Tax provision 130000

Outstanding Expenses 10000

2000000 2000000
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	 Other information / AÝ¶ gyMZm¶|
	 (i)	 Net Sales  / ewÕ {dH«$¶	 Rs. 3000000

	 (ii)	 Cost of goods sold / ~oMo J¶o ‘mb H$s bmJV	Rs. 25,80,000

	 You are required to calculate the following:

	 AmnH$mo {ZåZ H$s JUZm H$aZr h¡:
	 (i)	 Current Ratio / Mmby AZwnmV
	 (ii)	 Liquid Ratio / Ëd[aV AZwnmV	

	 (iii)	 Proprietary Ratio / ñdm{‘Ëd AZwnmV
	 (iv)	 Gross Profit Ratio / gH$b bm^ AZwnmV			   4 × 2

9)	 A worker takes 9 Hours to complete a work on daily wages and 

6 Hours on a scheme of payment by results. His wage rate is 

Rs. 1.50 per hour. The material cost of the product is Rs. 8 and 

the overhead are recovered at 150% of the total direct wages. 

Calculate the factory cost of the product under following plans.

	 EH$ l{‘H$ X¡{ZH$ ‘OXÿar na H$m¶© H$mo nyam H$aZo Ho$ {bE 9 K§Q>o H$m g‘¶ 
boVm h¡ VWm n[aUm‘m| Ho$ AmYma na ^wJVmZ ¶moOZm hmoZo na 6 K§Q>o H$m 
g‘¶ boVm h¡ CgH$s à{V K§Q>m ‘OXÿar 1.50 é. h¡& CËnmXH$ H$s gm‘J«r 
bmJV 8 é. h¡ VWm CXarì¶¶ àË¶j Hw$b ‘OXÿar H$m 150% h¡& CËnmX 
H$s H$maImZm bmJV, {ZåZ ¶moOZmAm| Ho$ AÝVJ©V kmV H$s{O¶o&

	 (i)	 Piece work Plan / H$m¶m©Zwgma ¶moOZm
	 (ii)	 Rowan Plan / amodZ ¶moOZm
	 (iii)	 Halsey Plan / hmbgo ¶moOZm
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain material cost variances and labour cost variances 

giving examples.

	 gm‘J«r bmJV {dMaUm| Ed§ l‘ bmJV {dMaUm| H$mo CXmhaU H$s ghm¶Vm go 
g‘PmBE&

11)	 Write short notes on following:

	 {ZåZ na g§{jßV {Q>ßn{U¶m± {b{I¶o&

	 (i)	 Normal Wastage / gm‘mÝ¶ j¶

	 (ii)	 Abnormal Wastage / Agm‘mÝ¶ j¶

	 (iii)	 Joint Product / g§¶w³V CËnmX

	 (iv)	 Inter Process Profit / AÝVa à{H«$¶m bm^

12)	 (i) 	� Explain the different methods of pricing the issue of material 

(any two). Give their advantages and disadvantages.

		�  gm‘J«r {ZJ©‘Z ‘yë¶m§H$Z H$aZo {d{^ÝZ {d{Y¶m| H$mo g‘PmB¶o (H$moB© 
Xmo) CZHo$ JwU VWm Xmof g‘PmB¶o&
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	 (ii)	 What do you mean by ‘Economic order Quantity’

	 "Am{W©H$ AmXoe ‘mÌm' go Amn ³¶m g‘PVo h¢?

13)	 The following figures are given to you:

	 AmnH$mo {ZåZ{b{IV Am§H$S>o {X¶o OmVo h¢&
Year

(df©)
Sales

({dH«$¶)
Profit/Loss

(bm^/hm{Z)
2013-14 100000 10000 (Loss)
2014-15 250000 20000 (Profit)

	 Calculate:- / JUZm H$s{O¶o :

	 (i) 	 Break Even Point

		  g‘ {dÀN>oX {~ÝXþ

	 (ii)	 Variable cost for each year

		  àË¶oH$ df© H$s n[adV©Z erb bmJV

	 (iii)	 Sales to earn a profit of Rs. 40000

		  40000 é H$m bm^ A{O©V H$aZo hoVw {~H«$s

	 (iv)	 Margin of safety at a Profit of Rs. 2000

		  2000 é. Ho$ bm^ na gwajm gr‘m&


